Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — 4(NEW) « EXAMINATION — SUMMER 2018

Subject Code: 3340602 Date: 30-Apr-2018
Subject Name: Advanced Surveying
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WU,
Explain transiting and swinging of telescope.

2clRslUo] Ut A ASHRL UM,

What is parallex?

gRAe AeA g ?

Explain Transit Rule for balancing of traverse.

HIARWRLeAL AHAC HIZoll il [QaH Al

In which situations the tacheometric surveying is mostly used ?
B ARSIRHI U U TRl sl ASOUHL WL 33| B?

Give advantages of transition curve.

Asll asell slaLel weuAl.

Define Degree of Curve by chord definition.

el cAUA YHIB cdsoll 9l clvARd 53

Draw sketches of vertical curve.
Give classification of theodolite.

JlaAslctsestl yst s,

Explain procedure to take measurement in Total Station.
2l RalotHl Hiu Aal Hizell ylsau Axestal.
Give advantages of ATR facility in Total station.

2l RalotHl ATRe(l YlAulatl sl2AEL QU
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Define :
(1) Telescope inverted or reversed. (2) Latitude (3) Closing error.

Yys2 () cluAL 1ML

(1) 2dlzsluell Getdl RAA (2) atial BdR. (3) AHUat 2.

OR
(@) Differentiate between consecutive co-ordinates and independent co-ordinates.

@) sHls AL U el A ARl dslad U 3.
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(b)  Describe the method of prolonging a straight line with a transit theodolite.

(@) sl dladslcuse ad AL wua cdotaatodl I aslal
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OR
Explain the relationship between different axis of transit theodolite.

AstHl LlaDSlcuseotl el el el Aol Uoitl AHsLl.
The length and bearing of a closed traverse ABCD are as under.

Line Length Bearing

AB 235.00 N 21°38° W
BC 317.50 N 82°20° E
CD 215.00 S 12°50°E

DA 281.50 S 79°42° W

Calculate consecutive co-ordinates.

A5 ol HIARWE ABCD ofl dolte el Aol o{lA Yosol &,

ALYl Aol Aol

AB 235.00 N 21038 W
BC 317.50 N 82020’ E
CcD 215.00 S 12°50’E
DA 281.50 S 79°42°'w

€35 Alotall sHls a0 W

OR
The co ordinates of point A and B are as follows.

Co-ordinates
Point N E
A 233.40 396.3
B 399.40 72.30

Find the length and Bearing of line AB.
A (g1 A wal B otl 2 (1A Yol B,

2ALHL
@g N E
A 233.40 396.3
B 399.40 72.30

AB cltotoll colles wal ol 2t
List parts of transit theodolite and state function of each.(Any six)
sl lADSlcseetl ealloll otid Aul. €359 stal cvll.( 2R A ©)

OR
List errors in theodolite work.

dlalsletse ciurdl el 321RA6l L€l atial,

Explain fixed hair method of tacheometry.
v ARSRHIUA(l RAR dAlre{l At AMest A

OR
Draw different shapes of stadia diapharm used in tacheometric surveying.

U ARSIQHIUAHL AAURLAL ELEL RSL2AUL cllRall SRl wigld €.

Write short note on anallatic lens.
WallAdls Aot QA gsolll AVl

OR
Find out tacheometer constants from data given below.
| Distance | Reading on upper hair | Reading on lower hair |
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50 1.695 1.200
80 1.545 0.750
(1A (Aol uRell 251{leRell AUAN(SL L.
AR GUCEL dlRq] 3lslal sllAcl dlRe 3lslal
50 1.695 1.200
80 1.545 0.750

Write short note on trigonometrical levelling.

AsleQa dAa QA setllu el

OR
Derive the expression for horizontal and vertical distances by tangential
tacheometry method when both the angles measured are those of elevation.

U ARBQHIUstell 2uSla Il 2R [RA2atoll il WEU G5l
gl R GuswLell €5 Yullof allAe 2idR AMes GralluR idR ucl

Hi2o] YA clRdl.

In tangential tacheometry two observations were taken on a staff held
vertically at B. For a vertical angle - 5° 30’ staff reading was 3.50 mt. and for
vertical angle -9° 48’ staff reading was 0.50 mt. Find R.L. of instrument
station A and staff station B and distance AB. R.L. of instrument axis is 51.60
mt. and height of instrument is 1.20 mt.

AUl AR Sl HIUeHL Grel(tR €5 GUR Aldet ad A GURYl A
iAot QAL ALl Gralltr Wall - 5230 Hi2 €5 Hu 350 Hl. &q
el GralltRu{RI HI2 -9°48” €5 MU 050 Hl. &q. Altet eUlet dall
€S elet Boll AV QLAY W R AB 20Ul Albotoll eloll U8

QLU 51.60 Hl. B. uA AUlstell Qs 1.20 Hl. B,

OR
The following readings were taken by tacheometer. The staff was held
vertically .The tacheometry constants were 100 and 0.The R.L.of BM was 50
mt. Find R.L of station B.

Inst. Station Staff Vertical Staff reading
Station Angle

A BM -2012° 0.98,1.54,2.10

B +10° 30° 0.83,1.36,1.89

B ARSIEL HIUAHL GrulltR AN €5 GUR ol Aol WS AclHl
ULAL &cll. WARSRL HUatoll AAUNISL 100 Aal 0.00 &cll. dARles{l
ALGL 50 Hl. scl. R2let Boll Vet Grue 2.

GUSRML AUt | €S Ut | GruluR WR | €5 cliUslls

A BM 2012 0.98,1.54,2.10
B +10° 30’ 0.83,1.36,1.89

Differentiate between compound curve and reverse curve.
M8t ds W BesH ds Aol dASleld /UR $3.

OR
Describe any one method for setting out curve using chain and tape.
URA dsa] UisAst sclloll AN A As o] culat 53A.
Define the terms :
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(1) Point of intersection (2) Sub chord (3) Forward tangent (4) Versed sine of
curve.

SSIEIEENRNE

(1) Beat (Ag (2) GU all (3) WAL U5 (4) aAsell U L.

OR
Derive the formula in trigonometric leveling for the case when base of object
is inaccessible, instrument stations and object are not in the same vertical
plane as the elevated object.

Aslal AlQal ddaaHl >R QR wtstall Wl UYL
Alal,GUsW0L €U Ul (AR ULt A5y Grelltll UHAAHT AUAAL

ol Slal R AV GUS Aucll 2o YA Rl

Calculate ordinates from 100 mt. long chord at 10 mt. interval for a curve
with radius of 150 mt.

150 {l.o{l Al cltnl AR 100 Hl.oll Eldal Uell as HER2 10
Lot 3{cd? aledl ol s2l.

Calculate R.L. of top of a tower using following data.

Inst. Station Reading on B.M | Vertical Angle | R.L. of B.M.
P 2.185 +18° 30° 50.00 mt.
Q 1.905 +10017
The distance PQ is 50 mt. and station P,Q and tower are in same vertical
plane.
{1 Aol (Qotct uell ataRetl Hatnell Whet Grue 2.
GUsRWUs] deddfes UR of | Gtellur Wall | ddflessll
ot cAlUetis L. 6L
P 2.185 +18° 30 50.00 mt.
Q 1.905 +10017

P ol Q dd] ¥R 50 Hl. B. P, Q, ddlos ual alaR Asy

Grallt? detHl .

Derive equations to calculate the following.
(1) Length of long chord (2) Mid ordinate.

o{lAsttofl QAR H2atll YA AR

(1) €lel ol cous. (2) asell AUl
Give function of any six parts of total station.
2lec R alotetl AN A & edlell 51l cAull.

Write short note on Robotic Total station.

AAlRs 2lect Ralet [AA &5 ollu Avll.
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